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Guess Paper – 2009

Class – X

Subject – Mathematics
Time allowed: 3 hours






Maximum Marks: 80

         SECTION A
                                                            (1 MARK EACH) = 10 MARKS
Q.1 Find the HCF using Euclid’s division method of 270 and 675








Or

     Change the number 0.3 into a while a and b are co- prime number and b # 0   



Q.2 Find the zeroes of quadratic polynomials p(x) =x2 + 7x + 10      






Or
      Find the quadratic polynomial; zeroes are given as √2, 2+√2.
Q. 3 solve by the substitution method.
        3x + 2y -5 = 0 

Q.4 Find the value of the polynomial if it has real roots.
        px2 + 4x + 1=0





Or

      Which term is 78 of an AP: 3, 8, 13, 18,…… 

OR
       Find the 31st term of an AP whose 11th term is38 and the 16th term is 73.
Q.5 If cotØ = 7, evaluate:  (1+ sinØ) (1- sinØ)       =  ?

                      8                  (1+ cosØ) (1- cosØ) 

Q.6  Two poles of heights 6 m and 11 m stand on a plane ground. If the distance between their feet is 

         12 m, determine the distance between their tops.

Q.7 The perimeters of two similar triangles are 25 CM and 15 CM. IF one side of the first 

      triangle is 9 CM; find the corresponding side of the other. 







Or

       X =? AB = 3X-1, BD = 3, AE= 2X, CE = 2             A

                        B

    C
                    D 


E
Q.8. The length of the minutes hand of a clock is 14 cm. Find the area swept by the minute 

          hand in 5 minutes.







Or

         The internal and external diameters of a hollow hemisphere vessel are 42cm and 45.5cm 
         respectively. Find its capacity and also outer curved surface area. 


Q.9. A dice is thrown once. Find the probability that number is even.  

Q.10 find the mean of the following data.
	Class 


	0-20


	20-40


	40-60


	60-80


	80-100


	100-120



	Frequency
	5
	8
	5
	12
	7
	8


    SECTION B
       (2 MARK EACH) = 10 MARKS

Q.11. Without sketching a graph say what type of solution it has 
          2x - y - 5  = 0

          x - Y - 3  = 0






Or



Find the two consecutive odd numbers whose square is 202.

Q.12  Find the value of : 
          Sec Ө cosec (90º -Ø) – tan Ø cot (90º - Ø) + sin² 55º + sin² 35º

                        tan 10º tan 20º tan 30º tan 70º tan 80º 






Or

cosec2 600 sec2 300 cos00 sin450 cot2 600 tan2 600 = 8√2

                                                                                             9 

Q.13  Find the coordinates of the third vertex if two vertex of triangle are (1, 2), (3, 5) and its 
          Centroid is on the centre point.

           




Or

          If the distance of P (x, y) from A (5, 1) and B (-1, 5) are equal, prove that 3x=2y.
 
Q.14 In fig., if PQ || RS, prove that ∆POQ ~ ∆SOR.           R



                                         P

                                                                                    O


                                        

     Q                          S

Q.15 A box contains 90 discs which are numbered from 1 to 90. If one is drawn at random 

         from the box, find the probability that it bears 

 
(i) A two digit number (ii) Perfect square number (iii) A number divisible by 5.

Or

      If the frequency table has median of 27 then find the value of p. 

        Xi   0-10 10-20 20-30   30-40   40-50   





        Fi     8
    p
   12
     13         10

     SECTION C
                                                   (3 MARK EACH) = 30 MARKS

Q.16 Solve graphically and find the co-ordinates of y of the following equation. 
      2x - y - 5  = 0

       x - Y - 3  = 0

Q.17 Find HCF and LCM 12, 30 and 144.

Or
        If the sum of the first 14 term of an AP is1050 and its first term is 10, find the 20th 

         term.

Q.18 The area of rectangle gets reduced by 80sq.units if its length is reduced by 5units and 

 The breath is increased by 2 units. If we increased the length by 10 units and decreased   

 by 5 units. The area is increased 50 sq.units find the length and the breath of rectangle.

Or

        The taxi charges in a city comprise of a fixed charge together with the charge for the 

         Distance covered. For a journey of 10km, the charges paid are Rs 75 and for a 

         journey of 15km, the charges paid are Rs 110 .What will a person have to pay for 

         traveling a distance of 25km?

Q.19 The speed of a boat in still water is 15km\h. It can go 30km upstream and return down 
          stream in 4 1 h. Find the speed of the stream.                            2

Or      

        An aeroplane has to get low its speed by 200km\h at the fly of distance of 600 km\h. by 

        Which it has to take 30 min. more than actual time. Find the actual time.







Or

        
 If square of the two odd numbers have the sum of 290. Find the digits.







Or

If the list price of a book is reduced by Rs. 5, a person can buy 5 more books for 300.  

Find the Original list price of the book.

Q.20 find the value of   cos 58º   + sin22º     _             cos38º cosec52º                 

                                      Sin32º       cos68º         tan18º tan35º tan60º tan72º tan55º

Or 
        Show that       cosA    +    sinA  = sinA + cosA

                 1- tanA       1-cotA

Q.21 Vertex of triangle are A (3, 4), B (7, 2) and C (-2,-5) find the length of median from A. 

Q.22  (-2, -2), (-1, 2) and (3, 1) are vertex of isosceles prove it.
     




Or

           Co-ordinates of the centre of the triangle is (1, 3) and its vertex are (-7, 6) and (8, 5) then find    

           the third vertex of its.
Q.23 ABC is an isosceles triangle right angled at C. prove that AB2 = 2AC2.

Q.24 In fig. DE II BC. If DE = 3cm, BC=6CM & area ((ADE) =15CM2 find the area of     

         (ABC.

Q.25 Find the area drawn by a clock’s needle of 14 cm between 9.00- 9.35. 

                     



Or

       If the radii of the circular ends of a conical bucket which is 45 cm high are 28 cm and 
        7cm, find the capacity of the bucket. 

         SECTION D
                                                     (6 MARK EACH) = 30 MARKS

Q.26 A motor boat whose speed is 18km/h in still water takes 1 hour more to go 24km 

         Upstream then to return downstream to the same spot of the stream.







Or

        Find all the zeroes of 2x4 - 3x3 - 3x2 + 6x - 2, if you know that two of its two zeroes are   

       √2 and -√2.

Q.27 The angle elevation of the jet aero plane is 600 at point P of the ground. After flying of 

       15sec.the angle of elevation becomes 300 if the jet aero plane is flying at the fix height of 

        the 1500√3. Then find the speed of the jet aero plane.







Or

       A Pole 5m high is fixed on the top of a tower. The angle of elevation of the top of the pole 

Observed from a point ‘A’ on the ground is 600 and the angle of depression of the point ‘A’ from the top of the tower is 450.find the height of the tower.







Or

       The shadow of a tower, when the angle of elevation of the sun is 450 is found to be 
        10meters longer than when it was 600. Find the height of the tower.

    Q.28 Prove that in a right angle triangle, square of hypotenuse is equal to the square of other 
             two sides.

Or

         If a line is drawn parallel to one side o a triangle, prove that the other two sides are  

          divided in the same ratio. Using the above, prove the following: In the adjoining figure, 

           if 2(A = (B and DE //AB prove that AD=BE.












C

                                 
`















  D

   E









              

                                                                                                     A


          B

     Q.29 A circus tent’s down part is in the shape of cylindrical and upper part is in the form of   

              same conical shape. Radius of the cylindrical part is 20cm and heights of the 
              cylindrical part and conical part are 4.2cm and 2.1cm. Find the total volume of the tent.
Q.30 find the median and mode of the following table.

Run 


no. of bat’s men
3000-4000

 
4

4000-5000  


8

5000-6000


9

6000-7000


7

7000-8000


6

8000-9000


3

9000-10000


1

1000-11000
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